
https://www.passapply.com/s90-02.html
2024 Latest passapply S90.02 PDF and VCE dumps Download

 

 

 

S90.02Q&As

SOA Technology Concepts

Pass SOA S90.02 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/s90-02.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by SOA Official
Exam Center

 

 

S90.02 PDF Dumps | S90.02 VCE Dumps | S90.02 Practice Test                                1 / 3

https://www.passapply.com/s90-02.html
https://www.passapply.com/s90-02.html
https://www.passapply.com/s90-02.html


https://www.passapply.com/s90-02.html
2024 Latest passapply S90.02 PDF and VCE dumps Download

QUESTION 1

Which of the following statements are true? SELECT ALL THAT APPLY 

A. A service can exist as a component. 

B. A service can exist as a SOAP-based Web service. 

C. A service can encapsulate one or more components. 

D. A service can encapsulate one or more SOAP-based Web services. 

Correct Answer: ABC 

 

QUESTION 2

Which of the following statements makes sense? Select the correct answer. 

A. I discovered the service I was looking for by using WS-Addressing to issue service search queries. 

B. I discovered the service I was looking for by building a WS-BPEL process definition. 

C. I discovered the service I was looking for by searching the UDDI-compliant service registry. 

D. None of these statements make sense. 

Correct Answer: C 

 

QUESTION 3

If Service B is invoked by Service A and then Service B invokes Service C and all of this happens as part of the same
service activity, then Service B would be considered: Select the correct answer. 

A. an intermediary 

B. a service agent 

C. an ultimate receiver 

D. an initial sender 

Correct Answer: A 

 

QUESTION 4

A SOAP-based Web service is required to transmit an XML-based invoice document to a REST service. However, the
SOAP-based Web service is designed to represent invoice data using an XML schema that is different from the XML
schema used within the REST service. How can the disparity between the XML schemas, used by these two services,
be overcome so that they can exchange the invoice document? Select the correct answer. 
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A. A layer of data format transformation logic needs to be introduced based on mashup technologies, such as DTD and
WS-Transform. 

B. A layer of protocol transformation logic needs to be introduced based on Web technologies, such as HTTP and FTP. 

C. A layer of data model transformation logic needs to be introduced, based on XML technologies, such as XSLT. 

D. There is no technique or technology for overcoming differences between XML schemas. 

Correct Answer: C 

 

QUESTION 5

WS-BPEL process definitions can be encapsulated by and exposed as SOAP-based Web services. Select the correct
answer. 

A. True 

B. False 

Correct Answer: A 
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